deheih! Weras (fegd) - 9g H. 1429
TECHNICAL ASSISTANT (ELECTRICAL) — POST NO.1429

1. feafai@a ooy #, afg faa B ufd & § df wiier &1 9T WA fovden g2 #ex &1 qur
Faher fagia S0pA & aur #Hiex & gfay 100Q81 Tidar TefFae g
In the following circuit, what is the current range of the ammeter if the switch is at position
B. Full scale deflection of the meter is 50uA and resistance of the meter is 100Q2 .T1 andT>

are the terminals.
A
0.1Q

B
T 02 0
¢ 100 O
C) FSD 5014
D 030

a) 5055 pA
b) 5000 pA
c) 5050 pA
d) 5005 pA



2. frafaf@a aRuy #,1QufRs & affa afdd g e & v s seare gfades & A
e gl aTfee?
In the following circuit, what is the value of resistance to be added to make the power
dissipated in the 1Q resistor zero.

] —

a) 1.5Q gfaeres & @rer 0.5 Q &ofr #/0.5 Q in series with 1.5Q resistor
b) 3Q ufarerss & @y 15 Q Aot #7/15 Q in series with 3Q resistor
¢) 1.5Q gfaeres & @ 3 Q @A) #/3 Q in parallel with 1.5Q resistor
d) 3Q ufeRias & @1 6 Q FAER #/6 Q in parallel with 3Q resistor
3. YAIRIAPHAAATEU AT RITTRILH, HUTRATR TR AT THTTRIRS AN Thelotles 7

In the following circuit, what is the energy required to fully charge the capacitors, assuming
zero initial charge.

1Q

15y —— 10 10 e 1000 p2F

a) 62.5 milli Joule
b) 125 milli Joule
c) Zero Joule

d) 250 milli Joule



4, U IRTAH 9ROy F vk W& (0.1 H), v guriRa (100puF) aar s gferes (10°Q),1V &
S aTeR Feens @ UE Av F I3 1 WU a9 H Wl gferiy waer 10°0Q7 10Q F
TS 3aedT #H, qRuY 7 a1RT e afaa fFde g2
An RLC circuit has an inductor (0.1 H), a capacitor (100uF) and a resistor (10°Q) connected
in series to a dc power supply of 1V. The parasitic resistance of the capacitor and inductor
are 108Qand 100 respectively. Under steady state conditions, what is the approximate power
dissipated in the circuit?

a) 2uW
b) 1 uW
c) 0.5 uW
d) 0.2 uW

5. 10 Qa 50 & gfadus Aol # 53 &1 vud yfoius & gfady aa aqois 0.004 Q/°C qur
agl gaX &1 0.005Q/°C (0 °C#) 81 0°C # gfeRitrhl & Fo& o1 F8Irdl GfcRIer g Iomeh feheer
e?

Two resistors of 10 Q and 5Q are connected in series. Temperature coefficient of resistance
of the first resistor is 0.004 Q/°C and that of the second resistor is 0.005Q/°C (at 0 °C) .
What is the effective temperature coefficient of resistance of the combination of resistors at
0°C.

a) 0.0043 Q/°C

b) 0.0048 Q3/°C

c) 0.0052 Q/°C

d) 0.0037 Q/°C

6. afe gfaes 1Q,2Q 9 3Q % dRe T Jfckyr Ry, R:A Rs & 3Seel @auel & dod &, o
Ri+Ro+Rsear g7

If the star connection of resistor 1Q, 2Q2 and 3Q is equivalent to the delta connection of
resistor R1, Rz and Rs3, what is R1+R2+R3?

a) 121/6 Q
b) 625/3 Q
c)6Q

d) 110



7. fArfaf@d fResdl & Th-Te & dod aR VHIEX W THM H, HiI-A1 JRaA 8T Icueat
FHLEIM?
The following signals are individually applied to a hot wire ammeter. Which one will
produce maximum deflection?

a) 10V R@y @ur 50 Hz 3mgfa & |y sarashig dteed!

Sinusoidal voltage with 10 V peak and 50 Hz frequency
b) 10V Rrex @ar 100 Hz 3mgfd & &y Sarashia ateedr

Sinusoidal voltage with 10 V peak and 100 Hz frequency
c) 10V Rr@x aur 100 Hz 3mgfa & @y geferer f@eeter

Square wave signal with 10 V peak and 100 Hz frequency
d) (a) a(b)a=i/Both (a) and (b)

8. T ST@hT dleear A 20V & A AT TUr 24s H FHoE@i g LT FHI H, qLT H;
3mH14.14V 8l 1s & 3 forder g2

A sinusoidal voltage has a peak value of 20V and time period of 24s. At time zero, the
amplitude of the wave is 14.14V. What is the amplitude at 1 s?

a) 7.07 V

b) 17.3V

c) 20/v/2V

d) 3= # @ 1S wg/None of the above



9.

10.

11.

A aRuy &, WX garT gl 718 arT 2A &1 9Ruy & SArafaf@ad ¥ siF gEe
FeTol I FHTGAT 72

In the following circuit, current read by the ammeter is 2A. Which of the following is a
likely trouble in the circuit?

a) 2QufaRrer ger 8/2Q resistor isopen
b) 4QufeRer gem g/4Q resistor is open
¢) 6QufaRrer ger 8/6C2 resistor is open

d) 12QufeRrer gar 8/12Q resistor is open

T Fsell w1 Q Uk 5g1 I Fselr A &ff¥d Foft 10] 8, dF dseh A #fsiRa Hf&hcad ot
fordetr grefr?

Q factor of a coil is 5. If energy dissipated in the coil /cycle is 10J, what is the maximum
energy stored in the coil?

a) 251

b) 25/%

c) 20w

d) /20

THh W H62.8Qufcaiy & ary Foft #400 V, 100 Hz Feems & Sier =r g1 afe aRgy &
TR A =, A ST R §2

An inductor is connected in series with a 62.8Q resistor across a 230 V, 50 Hz supply. If the
power factor of the circuit is iz what is the inductance?

a)0.1H

b) 0.2 H

c)0.3H

d)0.4H



12. A==faf@a aRur dAfme v A 7 B cffadis AR AT FAJed IRIY A fovdel gfaey
FT 39rer frar S 87

What is the resistance to be used in theThevenin equivalent circuit as seen from the terminals
A and B of the following circuit?

1| — 10

[ Y

a) 3/10Q
b) 5/10Q
c) 7/10Q
d) 9/10 Q
13. & dleear @d(2 + 3j) V aur ar gfderame (2 + ) Q 3 (1 + 3j) Qa0 & Sz aw g
(1+3))Q% IR-9R faemer ateedr frdsiig?
A voltage source (2 + 3j) V and two impedances (2 + j) Q and (1 + 3j) Q are connected in
series. What is the voltage across (1+3j)Q2 impedance.
a) (2-))/5
b) (3 + 11j)/5
c) (4-)/5
d) 12j/5
14. v 5V DC gwarg, 1/(2)) Q (50 Hz 9 #1fq) $r gfderer qar 2 Q ufaiy e 4ofr &7 Sz arw

&1 TUTS g H gRUY ¥ dgdl URT fhasr &7

A 5V DC supply, an impedance of 1/(2j) Q (measured at 50 Hz) and a 2 Q resistor are
connected in series. Under steady state, what is the current through the circuit?

a)25A
b)2 A
c)15A
d) 0A



15.

16.

ar Fsforar v Aol A 58 Re @ F3 § AR 3o AT HS Forrd quar (o) 7@ & dur o
URehcd T AT 3T g1 ST 3¢ 38 YR SISt ST g, & 3o mmfstsh gy & a9l g, a«
Tl Wehcd 0.2 H %A 8 Srar g1afe 9ehea & uiaAther 0.098, o 3o & &7 JoAa AMiS
[ELCIN-Y

Two coils are connected in series such that there is no flux linkage between them and the
total inductance is measured. When they are connected such that their mmfs are opposing

each other, the total inductance reduces by 0.2 H. If the product of the inductances are 0.09,
what is the coefficient of coupling between them.

a) 0.03
b) 0.9
c) 0.33
d)0.1

S & Wehcdl H mmfs & edeafErar & [ar v & Ao # Ssr Srar & a9 3 Fd

Wehca 0.4H g1 5 & 3t 30 g Avfieey & & ...

When two inductances are connected in series with no interaction of mmfs, the total
inductance is 0.4H. When they are connected in series with

(i) Hres Teh ga@R @ WAl X &, a9 Fel Rehed 0.2H &
Fields aiding each other, total inductance is 0.2 H

(i)  Hres vh g FRY Fd ¢, d9 Fol Wehea0.1H &
Fields opposing each other, total inductance is 0.1 H

AT Wehed & RAOT &1 (i) T (i) # FAG HFAMAT F §T, 3T IRebed FT 3MThele]
|

Assuming magnitude of mutual inductance is same in (i) and (ii), calculate the mutual
inductance.

a) 0.125 H
b) 0.067 H
¢) 0.018 H
d) 0.028 H



17.

18.

19.

T 5 IR fheed dae & T 1 KQ ufeRkieres aar 0.1 H 9& &1 393191 Rar Jrar g1 dia-
&@r g 7 Woeey ofswr 3 dB faRam?

1 kQ resistor and 0.1 H inductor are used to construct a low pass filter. At what frequency
the filter gain falls by 3 dB?

a) 10000 Hz
b) 5000/7 Hz
¢) 500% Hz
d) 500/x Hz

T flhee &1 eTa afda 2 W aar Hafdra afea 200 W &1 dB & s &five fohder g2

The output power of a filter is 2 W and the input power is 200 W. What is the attenuation in
dB.

a) 10

b) 20

c) 100

d)3

T 20V e, 1kQuidigs gor 9kQ&T v dis gfeRriess e Ao & §foa §1 s ufoius &
i A @ B Al 9RYY & cIRIEIT (HAEAT WEN) & v, o5 gfeRitres & oo S &
aur AV gR9Y H A g BF €I ACT FAJeT IRIY F AT ST §l 36 Awuor & fAv fhdw

gfcRIer AT &7 39ATeT HAT ST 872

A 20V cell, a 1kQ resistor and a load resistor of 9kQ are connected in series. Let the
terminals of the load resistor be A and B. For troubleshooting the circuit, the load resistor is
removed and the remaining circuit is represented using a Norton equivalent circuit between
A and B. What is the resistance value that has to be used for this representation?

a) 0.9 kQ
b)10 kQ
c) 1 kQ
d) 9 kQ



20. 10A & 9rT ¥id & 1Q, 2Q, 7 3QA & i IS & FAGR Il & ST -7 gl T
UATER, N7 Hd & Avfieey & T gE’T WAeY 1 QufoRier F 37 g3 &l TUH I g@y WAl 5
drer o QTSI @1 3gared fohcer glam? Ve & AT o Jfcerer 3egaATad &

A current source of 10A is connected to the parallel combination of three resistors of values
10, 20, and 3Q). One ammeter is connected in series with the current source and a second

ammeter is connected with the 1 Q resistor. What is the ratio of the readings between the
first and second ammeters? Assume zero impedance for the ammeters.

a) 10:6
b) 11:5
c) 11:6
d) 10:1



21.

22.

23.

g aReT & &) aRR @A) # F3 &1 3ot gfadeedr 3:4, dar$ 1:2aur sare 2:1% 3iedrd
# g1 I AT FT dloed! AT F ST ST &, o Jfaesht & & @ JoRdT URT S Heard
IELCIRY

Two wires of circular cross section are connected in parallel. Their resistivities are in the
ratio 3:4, lengths are in the ratio 1:2 and diameters are in the ratio 2:1. If the combination is

connected to a voltage source, what is the ratio between the currents passing through the
resistors.

a) 3:4
b) 1:2
c) 16:3
d) 32:3

Ihd Uk Tl &I FohrS Tohclall 87
What is the unit of magneto motive force?

a) ¢Eer/Tesla

b) ¥fFTaR T=i/ampere-turn
C) dsR/weber

d) aree &=i/Volt-turn

0.5m FaTs F TS AT 3ol & dars 2 Wh/Mm Ferdd Secd & AW Jahra &1 7 31T g
gl S dreleh Y 25HAT A 10Mglr aF T §, dreleh # IR dteedar2.bV g1 aifa Fr faem aur
ol olTgeT hl G2 & o &l hioT fhdaTr g7

A conductor of length 0.5m moves in a uniform magnetic field of flux density 2
Wb/m?spanning its length. When the conductor moves 10m distance in every 2s time, the

voltage induced in the conductor is 2.5V. What is the angle between the direction of motion
and the direction of the flux lines?

a) 20°
b) 30°
c) 45°
d) 60°

10



24.

25.

26.

Teh IRUET Aol g9y, qRadl g # SAEhT dieear SAfad & B fhar Srar g1 dreear &
RMS #Are 200V &1 dteedr Sifad & 3mgfa 3ifd et @ @ 3fd 3= A § seerdr S
qqr Ad A o 7S ATFd HT ATYT dTecHIC garT hdT ST &l Qmﬁmwwmﬂﬁ?
Tele fRar Srar B1 afed SaH 3gfy g ve N gefar &1 afFa @1 MY A fhder 87 dRed
= 40mH, FemRar= 1pF, 9faRier = 100

An RLC series circuit is fed with a sinusoidal voltage generator with variable frequency.
RMS value of the voltage is 200V. The frequency of the voltage generator is changed from a
very low value to very high value and the power drawn from the source is measured using a
wattmeter. The power is plotted as a function of frequency. The power vs frequency curve
shows a peak. What is the peak value of the power? Inductance = 40mH, Capacitance = 1uF,
Resistance = 102.

a) 2 kW
b) 4 kW
c) 7 kW
d) 10 kW

T HURT & 1 Hz #1 31 & SAashia dieed! did & |1 SisT Siidr 81 G689 thdss & fav
St FURT H AT § T TAT L¥Hs & fov Ad f 3R amod Sar g1 I8 9k aag-aq8a
W SRS ST §1 TAS 3T H 11T tFl AT Fhde §?

A capacitor is connected to a sinusoidal voltage source of frequency 1 Hz. Energy flows in

to the capacitor for a time t1 seconds and flows back to the source for a time t> seconds. This
process repeats periodically. Under steady state conditions, what is the value of t; and t2

a) 0.25s, 0.25ss#zr:/respectively
b) 0.5s, 0.5s sw#er:/respectively
c) 1s, 1s ss#er:/respectively

d) 2s, 2s saer:/respectively

tellcH® AT Q¥ U gl W degd faar &1 A= fhar Srar g1 3melh gl X #A= degd
orerel e W & Hel AT A 3R 3T fohdar maer Sis=r ggam?

Electrical intensity at a distance from a positive charge Q is measured. What extra charge to
be added to the original charge to keep the same electrical intensity at half the distance?

a) 4Q
b) 3Q
) 2Q
d Q

11



28.

29.

. T Y Alex &1 IR . FH A & v dff@ae (gefad) Far srar g1

The armature of a DC motor is laminated to reduce

a) dr# grfer/Copper loss
b) b) siax emr gfa/Eddy current loss

c) Afea (RaeRf@a) gifas Hysteresis loss
d) (b) T (c)a=i/Both (b) and (c)

T 33l Ichoie ciforeel Yt &l 3cloidh aIsUrd eTRAT S dedl § aF a4 & ac afey
# 7 g 87

As the emitter by pass capacitance of a common emitter transistor amplifier increases, what
happens to the ac gain of the amplifier?

a) sgar g/Increases
b) gear g/Reduces
C) 9gel dedT &, e gear g/First increases and then reduces

d) @A IgaT g/Remains same

T Ny JdTelcAs Yausd H, 3Vde cfiade & a3 fFar Jar § aur gdiaed effed #r
1000uF &7 aifar & gaia & JIRv 3M3TYT A ST ATl g1 15V & 3y fFaer deear O@ia i
1kQ* gfarer & JIRT gdoe cffider & Ser Smar g1 op-amp deems +/-15V & &1 et &
HRfAF dieear Y Bl FAT & dida & @Y A 1 4T g §?

In an ideal operational amplifier, the non-inverting terminal is grounded and the inverting
terminal is connected to the output through a capacitor of capacitance 1000uF. A dc input
voltage source of 15V is connected to the inverting terminal through a resistor of 1kQ. The

op-amp supply is from +/-15V. Initial voltage at the output is zero. What happens to the
output as time progresses?

a) +15V # "qeagian g/Saturates at +15V
b) -15V & #qed giar g/Saturates at -15V
C) Y= & g/Remains zero

d) 3udsFa & & #1$ wgi/None of the above

12



30.

31.

32.

33.

UH FR LT A F AE FIA § T FAWT @07 & qI6fAqe # 60km/hr & 71f T ggae
g1 3t 20 fAse & faw R 60km/hr dr @At aifd & gardr § 3R T 10 fAse # a7 FAeel
& T L A 9T S &l FR @R TF H 975 glhr TReberel H

A car starts from zero speed and uniformly accelerates to a speed of 60km/hr in 6 minutes.

For next 20 minutes the car runs at a constant speed of 60km/hr and then uniformly
decelerates to zero speed in 10 minutes. Compute the distance travelled by the car.

a) 16.8km
b) 28km
c) 36km
d) 20km

Id 3T 3 & Y T FEIAW a1, a3 az3ihrd Ay & §1 I ap + az + as, 158, ar a1d asshr
SaTfAdT Are fohder g7

Three numbers ai, a2 and as are in arithmetic progression with a common difference 3. If a; +
a2 + az is 15, what is the geometric mean of a; and as?

a) 4

b) 5

c) 8

d) 16

10smET @1 3= 3 1881 59 U «v OF & 3§ I9 & SIsT ol ¢, a9 Had g l7#d g
STl 81 AT o1 & Y bl 872

Average age of 10 students is 18. When a new student is added to the group, the average
reduces to 17. What is the age of the new student?

a) 17 av/years

b) 10 aw/years

c) 7 av/years

d) 14 ag/years

x? 4 ax + b = 0FHERT & F HA2E| GET A el &2

One root of the equation x2 + ax + b = 0 is 2. What is the other root?
a) a2

b) b/2

c) 2b

d) b-2

13



34.

35.

36.

37.

Ifg T PRIOT & FIOT 1:2:7e 3eqard & g, @ Bhor & & o7 &1 Aerfaefaf@d & @ fdar
gram?

If the angles of a triangle are in the ratiol:2:7, which of the following is the sum of two
angles of the triangle?

a) 54°

b) 90°

c) 38°

d) 160°

1+2sinx cosx - ﬁ Foﬁ ?ﬁf @f £ 3 %_,7

sinx+cosx

. 1+2sinx cosx
The expression ——————

. is equal to which of the following?
sinx+cosx

a) sinx + cosx

b) sinx — cosx

€)1 — cosx

d) 1 —sinx

oTSeT y=2x+3, y axis, X axis aur agaAx=47 aRecy &7 &1 &% fohdar geml Ff de g cm
A Bl

What is the area of the region bounded by the line y=2x+3, y axis, X axis and the line x=4.
All lengths are in cm.

a) 44cm?
b) 28cm?
¢) 32cm?
d) 16cm?

Sin(mrt) >0aarCos(rt) < 08 fasafaf@a & & Hia-ar @gdr g2
Sin(rrt) >0 and Cos(rt) < 0 which of the following is true
a) 0 <t<=
2
b) —<t<1
3
C) 1<t
3
d) =<t<2
2

14



38. uer & oY AMT &1 I ... o @AfFa g
The armature of a dc machine is made of

a) drem/Copper
b) fafores sEara/Siliconsteel

c) @ig diaree/ Ironcobalt
dbdarc/borc

39. T AT SAfAT A FheT H gadr ... gl
The polarity of compoles in a dc generator is

a) #ALT 9T & FAE &, TOIT A Ger & 3w
Same as that of the main pole ahead in the direction of rotation
b) T&T o & FAT &, gUle & e & IS

Same as that of the main pole behind in the direction of rotation
C) #AET W & AU, EgoleT &I e & 3w

Opposite to that of the main pole ahead in the direction of rotation
d) sa# & +15 Agi/None of these

40. s & dg W fHE A Fr afa g¢af?
The speed of which motor will increase as the load increases

a) ere/Shunt

b) 4of/Series

c) fadr afFasyDifferentially compound
d) @@ @fFFs/Cumulatively compound

4]1. ts & I eic Aex 200V F Fears ¥ 52 A 9RT T g1 Qe gfadrer gur 3mr gfaje 100Q
0.1Q &1 g emferr gar o@mU|

A dc shunt motor takes 52 A current from a supply of 200V. The shunt resistance and
armature resistance are 100Q2 and 0.1Q . Find the back emf

a) 195V
b) 194.8V
c) 195.2V
d) 200V

15



42.

43.

44,

45.

HYEAT AT HT d@T AT ... # gRuifaa gar g1
Wave excitation of a stepper motor results in

a) 318 @rare/Half stepping

b) @e# @gr=/Microstepping

¢) f§ ¥u ®u/Double step angle
d) s§ ¥U @Iur/Multiple step angle

T gearafdd # 38F ... & Il o & fAT qifear fafer ggerd &1 sl gl
Potiermethod of an alternator is used to finds its

a) garar/Efficieny

b) &3 3aste/Field excitation

¢) deueiiere Tid/Synchronous speed
d) dieear fafwaA, Voltage regulation

ST 2T A A facavor (Rerses) adetor ... HHT HT AT A & AT ggere famar Sirar g
Retardation test on a d.c. shunt motor is used for finding ------ losses

a) drsT/copper
b) <ig/lron
c) a¥ur/Friction

d) &¢/Stray

T 3 &Y Qe AleT & AW & iy Joft F gfaqer ... FTI
A resistance in series with the armature of a dc shunt motor will
a) aifa & %A HEM/Reduce the speed

b) aifa &r sgreem/Increase the speed

C) HTaTs dieedl o 3TUR WX 1T T e HLIM/FSTT

Reduce/increase the speed depending on supply voltage

d) @aTE aifa e IWem/maintain the same speed

16



46.

47.

48.

49,

Th G TRBIER H ......... gl
An ideal transformer has

a) FAT FATRF T gfachas Fsera d&a/Same number of primary and secondary winding
b) #Ig &1fer T awRor wfa’rer w€i/No losses and leakage reactance

c) foera erferd, faaer afda & &a g/Output power less than input power

d) sa#a & a5 Agi/None of these

100zeT & gord iAW dHseal # 222 V, 50 Hz & geang a1 gaier f&har siar &1 3cdea
3FAH FoFd geicd 1 Wh/m%| #R &1 36I9ed 1T 81 .............. gl

222 V, 50 Hz supply is applied to a transformer winding having 100 turns. The maximum
flux density produced is1 Wh/m?. The cross sectional area of the core is

a) 1 m?

b) 0.1 m?
¢) 0.01 m?
d) 0.001 m?

w23ov,50HzmqﬁmsﬂwﬁvﬁﬁmﬁﬁT$WU@§é%laﬁmﬁﬁ?
0.5A orar § aur 69 Waraena aar g, df &g & ORT ............ gl

A 230V, 50 Hz supply is connected to a transformer with secondary open condition. If the
transformer takes 0.5A and absorbs 69 W, the iron loss current is

a) 0.5 A

b) 0.2 A

c)0.3A

d) 0A

o9 H&g grawiat e 100 KVA R, digawiel & Thic deus # SR grahie e fhdeir
g2

What is the teaser transformer rating in a scott connection of transformers when the main
transformer rating is 100 KVA

a) 100 KVA
b) 86.6 KVA
) 71.7 KVA
d) 50 KVA

17



50. v& oieT %1, 60 Hz, 69T 9RoT Aex 1140 rpmeR goAdT &1 A & dhiasT Gare ......... gl

51,

52.

53.

A three phase, 60 Hz, 6 pole induction motor rotate at 1140 rpm. The approximate efficiency
of the motor is

a) 99%
b) 95%
) 90%
d) 85%
Teh FUMRT H FIE HFAFEX T Tohel &hol AleX H, YRS d16, Plef-AT Felol [agerd 872

In a capacitor start - capacitor run single phase induction motor, which winding is isolated
after starting.

a)FEa/Main
b)ursT=/Starting
C)FET ar Y gRee/Either main or starting

d)ar FEF=r rerer/Neither main nor starting

22 MVA, 11 KV gcamafds & AT gfaemer ... gl
The nominal impedance of a 22 MVA, 11 KV alternator is

a) 050
b)2Q

€)22Q
d)55Q

T3S rel, 3ol YeAmafcdT # 72 Feile § Ul Fseiel O # 8Felic €1 30 fdegd Hror S el
oY, fHEd Felel His fhar ST &

An eight pole, 3 phase alternator has 72 slots and winding pitch is 8 slots. Find the electrical
angle by which the winding is chorded

a) 10°
b) 20°
c) 30°
d) 40°

18



54.

55.

56.

57.

1 kWh............. FHANT & S g
1 kWh is equal to ---------- Calories

a) 8.6x10°
b) 7.46x10°
c) 4.18x10°
d) 3.6x10°

T gISgigaiacs ek T &1 AHf¥ehcaa #Aier 1250 KW Tur s 3ot 80% &1 vsh a¥ #AkWh
AscaTled Fel Foll .......... gl

A hydroelectric power station has a maximum demand of 1250 kW and a load factor of 80%.
Total energy generated in an year in KWh is

a) 876x10*
b) 1000x10*
c) 1250x10*
d) 418x10*

T g 9reR HIF AT dfhaA & 200 MW Ife dis qoreh 60% T anides @I &THCT
TUTRA0%E, T TaTelel Rotd &7aaT foheletr 872

A thermal power plant has a maximum demand of 200 MW. What is the operating reserve
capacity, if the load factor is 60% and annual plant capacity factor is 40%

a) 8OMW

b) 100 MW
c) 120 MW
d) 300 MW

KVAR = ----mmmne-
a) kW cos¢
b) KW sing
c) kW cotd
d) s&# & #1g wig/None of these

19



58. ST& HTROT dleedl N I[OT Gl § od dleleh BN H............ gl

59.

60.

61.

When the transmission voltage is increased by n times, the conductor size

a) 1/n apom "ear g/Reduces by 1/n times

b) n srom gef@increases by n times

¢) 1v/n apom wrear &/Reduces by 1/+/n times
d) =& & FI1g =161/None of these

&l IR E sy H A% IR # dreedr aid 2%g | BT T GTROT &1 ... gl

The voltage drop per wire in a dc two wire feeder is 2%. The transmission efficiency of the
feeder is

a) 99%
b) 98%
c) 96%
d) sa# & +ig Agi/None of these

NTRE TEeT H T F TG F PeArared § ¥ P 3T @l ad 2
Which of the following is not correct for sag in overhead lines
a) d® B U0 IPhls dals HR & SIS

Proportional to weight per unit length of conductor

b) =Terh & lra & 3mreariash/Proportional to tension in the conductor
C) T ofaT$ & T & 3reqaricer/Proportional to square of span length
d) sa#a & =+ Agi/None of these

Ife 50 km & fav fdega duer gfeter 10 MQ E, & 100 kmdser & faw fagga dusr gfade
[ELCIN-Y

What is the insulation resistance of 100 km cable, if the insulation resistance is 10 MQ for
50 km ?

a) 5 MQ

b) 10 MQ
c) 20 MQ
d) 2.5 MQ

20



62. 7geTad TS 2 R gred e & fov ewfaf@a 7 @ fra afderdr deem & saer R
ST 82

Which of the following compensation scheme is used to achieve minimum steady state
error?

a) @ATIaTasR/Proportional

b) w&TIuIfas-3rashersi/Proportional-derivative
C) gaTRguTfas quitehra/Proportional Integral
d) <irs/Lead

63. T HRC st & ¥gol 3 @ 3TdH URT & e 8l A [T a0 FAT &Y ..., FEd &

The time taken for final current to become zero from the fuse cut off of a HRC fuse is known
as

a)qd 3T wHI/Pre-arcing time
b)ser garerer wHa/Total operating time
C)3tdss wHI/cut-off time

d)3meReT FAT/arcing time

64. TEBAT # TG gahled Rel ... garT yarferd gl
Buchholz relay used in transformer is operated by

a)drgATsT/ Temperture

b)d& gre/Gas pressure

¢) TR dgga wonElectrostatic induction

d) faegd gehra 9xor/Electromagnetic induction

65. 10PTRR TA/ATT =..covvee 3INES
1 Ampere turn/metre = -------------- Oersted
a) 4w x 1072
b) 47 x 1073
) 4w x 10™*

d)4m x9.81 x 1073
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66. 3HA-TTH W gLl Irarersh Tolel & o & faggd $reg &1 9l 9T, A 3o alell 7 o3maa

67.

68.

69.

Uolcd o TTYT +ve 3L g1

Find the electric field between two non conducting plates placed facing each other, if both of

them contains +ve charges having charge density o.

260

c)z—a

€o

d) S99 ¥ ®is 7a!/None of these

T 9T} 93T & o 5T yeR FT Sger g9 3T g7
Which type of coal is best suited for thermal power plant?

a) dre/Peat

b) ferearse/Lignite

¢) fSgf@Aera/Bituminous
d) vyrarse/Anthracite

HIT-AT Talsd, 3= AT T MY s ek T & v ged 3RT 82
Which turbine is most suited in high discharge low head hydro power plant

a)aversT carsar/Kaplan Turbine

b)wifea ests=1/Francis Tubine

C)UecaT gl carsaA/Pelton wheel turbine
d)eatt rer easa/Turgo wheel turbine

¥ et W1 Al & o & AT Fel & fow fora Gl &1 39 Far arar 82
Which are the methods used to find the slip of a three phase induction motor

1. &ieer @/ Tachometer method
2. geshra sl faf/Magnetic needle method
3. Tgereas fafe/Stroboscopic method

a)l&?2
b)1&3
)2&3
d)1&2&3
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70. faegd IERfAs FAJed(z) U (ARG FAJeI(E)d da & HeEfaf@a d @ $la-ar @9y

71.

72.

e 82

Which of the following relation is correct between electrochemical equivalent (z) and
chemical equivalent (E).
a) f,ﬂaﬂ deal & fow fEies ’5"/% is constant for all elements

b) f,ﬂaﬂ deal & forw 3rerer %/g is different for all elements

2 2
c) E; g deat & fow e %“/% is constant for all elements

d) ZEZ , g dcat & fov R ’e"/ziz is constant for all elements

3MaRT Q, gTEZISTel o PUTH U3 T FFcd T &1 THT AU RN Herd fohu fferdioteT & ama
30T N FEAT ... gl

A charge Q liberated P moles of hydrogen. The number of moles of oxygen liberated by the
same charge is

a)P

b) P/2

c) 2P

d)sudea & & =r1$ wgi/None of these

“q” Foid F M gele ufa A fr amgfy Ao B & g9 # g7 W@ ¢ gAge aw

........... gl
€6 9

A charge of “q” coulomb is moving in a circle of radius
revolutions per second. The equivalent current is

a) gf

b) q/f
c) gr/f
d) g/fr

IR
T

metre at a frequency of “f”
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73. Tafea gifoeex & fow afg B =60 g, df TUAET & 3cdoled alecdldl Al ............ gl
For the silicon transistor if B = 60, the value of collector to emitter voltage is

12v

S

80K

a) 0.2V
b) 1.2V
c)6V

d) 3.8V

74. SR & fIU TR dleearoVayr 3@ dleearl.2 VB opampdists edame| e gage, 1V oy
3mare qur 1KHz @ 3mgfd &1 @rgel a’er §, d VOHT gar o@nd|

For the Zener, reverse voltage is 6V and forward voltage is 1.2 V. Assume infinite opamp
gain. If the input is a sine wave of 1V peak amplitude and a frequency of 1KHz, find Vo

Vin 10K -15V

Vo

+15V

a) 1.2V o 3w & a@rssT ader/Sine wave of 1.2V peak amplitude
b) 6V efi§ 3marer &1 @ aXer / Sine wave of 6V peak amplitude

c) +/-7.2V a= &9 f&ar @rsr ader / Sine wave clipped at +/-7.2V
d) +/-7.2Var @I a@r /Square wave of +/- 7.2V
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75. K A9 & 393197 &7 A &Y »(0,4,5,6,9,12,13,14) =?
Reduce using K map. Y( 0,4,5,6,9,12,13,14) =?
a) BC +BD +ACD+ACD
b)BC +B D+ ACD+ACD
C)BC+BD+ACD+ACD
d) BC+BD+ACD+AC D

76. T gcor 8085V M e Wamw it favarfed ar &1 Fsarfea ot i @@ ... gl
An intel 8085 processor is executing the program given below.The number of times the loop
executed is

MVI A,20 H
MVIB,10 H
LOOP: ADD B
RLC

JNC LOOP
HLT

a) 2 s/times
b) 3sr/times
C) 4 s/times

d) 5 sr/times

25



77. Aafaf@d aRuYy F Fag-ralg &1 ugel ForR FIT I—7T qAUT 91 F 6T0E & T Falie fhar
AT Q F ITHA (FSH g & FAleT HY HoTdA FIIH g@adh A §U)  covvevrrens grem|

In the following circuit the flip flop was initially cleared and then clocked for 6 pulses. The
sequence at Q (assuming most recent value to be least significant bit) will be

J Q
_ High |
Q |
/\
Clock ||
a) 010101
b) 101010
c) 001001
d) 100100

78. T FHANIT Afeathesd T 4MHz el d2n 8fde gfasmumdy 1 (X)) &1 39AeT Far gl
FUTAROT HTel TR g2
A successive approximation ADC uses a 4MHz clock and an 8 bit binary ladder. What is the
conversion time?

a) 1usec
b) 2 usec
C) 4 usec
d) 8 psec
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79. Vo=0VI@a & fav A fgv /@7 & R & AT &1 9o o@ng|
Find the value of R in figure below to keep Vo=0V

a) 7.273K
b) 2K

¢) 5.375K
d) 6.667K

80. Pe=ifaf@a drfeheh gR9Y & & wir-ar XOR gates HAJeT et &7
Which of the following logical circuit is not equivalent to an XOR gate?

) b)

] —{ >
—{ >

%k %k %k %k 3k %k % %k %k %k



